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Choose five problems.

1. Use the integral test to determine convergent or divergent.
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2. Find the interval of convergence for the power series.
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3. Use the first four terms of the Taylor series representation ex =
∑∞
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approximate the value of the improper integral.∫ 1
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4. Evaluate detA.

A =


3 5 −2 6
1 2 −1 1
2 4 1 5
3 7 5 3


5. Find the eigenvalues and eigenvectors for the matrix A.

A =

[
4 −1
2 1

]
6. Find a formula for the inverse function T−1(x, y, z) of the linear operator T :

R3 → R3.
T (x, y, z) = (x+ z, z + y − x, y)

7. Find the matrix for the linear transformation T : R3 → R2 with respect to the
basis {(1, 1, 1), (1, 2, 0), (2, 0, 3)} for R3 and the basis {(1, 1), (3, 2)} for R2.

T (x, y, z) = (x− y + z, y − 2z)
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